Mid point of a line segment

Mid point. % y) = (xl 5 % ;yzj

Find the coordinates of Mid point in each pair of points on the line.

Mid Point
Q1 A(1,2), B (4, 5) (
Q2 A(205) B (6, - 3) (
Q3 A4, 3), B (-8,-7) (
Q4 A(-3,1), B (6, - 3) (
Q5 A(1,3), B (4,-1) (
Q.6 A(5,6), B(3,-1) (
Q7 A(-2,6), B (-4,-5) (
Q.8 A(7.-6), B (8, -2) (
Q9 A(-5,-8), B(-6,-1) (
Q.10 A(5,0), B (3,-1) (

Find the co-ordinate of the point when one point the mid point known.

Q.11 A(5,6), Mid point (3, = 1)  B(
Q12 A2, 7), Mid point (2, 1) B(
Q.13 A (5, 3), Mid point (-3, 5)  B(
Q.14 A (5, -4), Mid point (5,7)  B(
Q.15 A (4, -5), Mid point (0, = 1)  B(
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